Mathematics – Geometry EOC

Curriculum Development and School Improvement- Secondary

MA.912.G.4.6 – Worksheet 1

Name:  ______________________________________ Date:  ____/____/____ Period:  _______


1. What other information is needed to prove that 
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is congruent to 
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by the SAS Congruence Postulate?  
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A.  
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2. Fill in the missing reasons to complete the proof.  
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Reasons

1. Given
2. Alternate Interior
Angle Theorem





F. Reflexive Property and CPCTC
G.  Symmetric Property and CPCTC
H.  Transitive Property and HL
I.  Distributive Property and SSS  

3. A surveyor uses the diagram below to measure the height of the tree.  What theorem is used to prove that 
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is similar to 
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A.  HL


B.    ASA
C.  AA


D.    SAS
4. You can prove that 
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is congruent to 
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by what postulate or theorem?
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F.    SSS


G.    SAS
H.    ASA

I.      AAS
5. What additional information do you need to prove 
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D.  
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